

## AN EXTENSION OF THE ITÔ INTEGRAL\*

WIDED AYED AND HUI-HSIUNG KUO

ABSTRACT. We introduce the concept of instant independence for certain anticipating stochastic processes and take the class of instantly independent stochastic processes as a counterpart of adapted stochastic processes for the Itô theory of stochastic integration. Then we define the stochastic integral of a stochastic process which is a linear combination of the products of instantly independent and adapted stochastic processes. The crucial idea is to use the right endpoints as the evaluation points for the instantly independent factors, while the left endpoints are used for the adapted factors. We prove a special case of Itô's formula for this new stochastic integral and present some examples of stochastic differential equations.

### 1. Introduction

Let  $B(t), t \geq 0$ , be a Brownian motion and let  $\mathcal{F}_t$  be the  $\sigma$ -field generated by  $\{B(s); 0 \leq s \leq t\}$ . The well-known Itô integral is a stochastic integral

$$I(f) = \int_a^b f(t) dB(t)$$

defined for a stochastic process  $f(t)$  being adapted to the filtration  $\{\mathcal{F}_t; t \geq 0\}$  and  $\int_a^b |f(t)|^2 dt < \infty$  almost surely. In particular, when  $E \int_a^b |f(t)|^2 dt < \infty$ , we have the following equalities

$$E(I(f)) = 0, \quad E(|I(f)|^2) = E \int_a^b |f(t)|^2 dt. \quad (1.1)$$

See, for instance, chapters 4 and 5 of the book [6] among many standard books on stochastic integration.

In the 1976 International Symposium on Stochastic Differential Equations at Kyoto, K. Itô raised the question on how to define the stochastic integral

$$\int_0^t B(1) dB(s), \quad 0 \leq t \leq 1, \quad (1.2)$$

---

2000 *Mathematics Subject Classification.* Primary 60H05, 60H20.

*Key words and phrases.* Itô integral, Hitsuda-Skorokhod integral, Itô's formula, filtration, adapted, anticipating, instantly independent, evaluation points, stochastic integral, generating function, Hermite polynomials, stochastic differential equations.

\* A few days after this paper was written, we learned the extremely sad news that Professor Kiyosi Itô passed away at 9:26 am, November 10, 2008. The ideas in this paper are influenced by his 1976 Kyoto lecture. It is with the deepest sorrow and fondest memory that we publish this paper in memory of Professor Kiyosi Itô.

which is not an Itô integral since the integrand  $B(1)$  is not adapted to the filtration  $\{\mathcal{F}_t; t \geq 0\}$ . Itô's idea in [4] is to enlarge the filtration by letting  $\mathcal{G}_t$  be the  $\sigma$ -field generated by  $\mathcal{F}_t$  and  $B(1)$ . Then the integrand  $B(1)$  is obviously adapted to the filtration  $\{\mathcal{G}_t; t \geq 0\}$ . However,  $B(t)$  is no more a Brownian motion with respect to this enlarged filtration since  $B(t) - B(s)$  and  $\mathcal{G}_s$  are not independent for any  $s \leq t$ . But  $B(t)$  is a  $\{\mathcal{G}_t\}$ -quasimartingale with the decomposition

$$B(t) = M(t) + A(t), \quad 0 \leq t \leq 1,$$

where  $A(t) = \int_0^t \frac{B(1)-B(u)}{1-u} du$  and  $M(t) = B(t) - A(t)$ . Hence the stochastic integral in Equation (1.2) can be defined as one with respect to a quasimartingale  $B(t)$  and it turns out that

$$\int_0^t B(1) dB(s) = B(1)B(t), \quad 0 \leq t \leq 1. \quad (1.3)$$

In 1972 and 1978 Hitsuda [2][3] defined a stochastic integral for non-adapted integrands and obtained a special case of Itô's formula for anticipating stochastic integrals. His idea was used by Skorokhod [10] in 1975 to define such stochastic integral via homogeneous chaos expansion. Their stochastic integral can be defined in terms of the adjoint of white noise differentiation, see chapter 13 of the book [5]. In the recent years there have been many papers dealing with anticipating stochastic integrals and related applications, see, e.g. [1][7][8][9].

The purpose of this short paper is to present a new idea which is more in line with Itô's methods to define a stochastic integral for adapted integrands on the one hand, and for anticipating integrands on the other hand, namely,

- (1) we keep the left endpoint as the evaluation point for the adapted part as in the Itô integral. But we use the right endpoint as the evaluation point for the anticipating part of an integrand.
- (2) we keep the Brownian motion  $B(t)$  as an integrator, but we decompose an integrand into a sum of stochastic processes with special properties (to be specified in Section 2).

Let us use the example  $\int_0^t B(1) dB(s)$  to illustrate our new idea. Decompose the integrand  $B(1)$  into the sum

$$B(1) = (B(1) - B(s)) + B(s).$$

The integral of the second part, i.e.,  $\int_0^t B(s) dB(s)$  is an Itô integral given by

$$\int_0^t B(s) dB(s) = \frac{1}{2}(B(t)^2 - t). \quad (1.4)$$

On the other hand, the first part  $B(1) - B(s)$  is anticipating. We define its integral as the following limit in probability,

$$\int_0^t (B(1) - B(s)) dB(s) = \lim_{\|\Delta\| \rightarrow 0} \sum_{i=1}^n (B(1) - B(s_i))(B(s_i) - B(s_{i-1})),$$

where  $\Delta = \{s_0, s_1, s_2, \dots, s_n\}$  is a partition of the interval  $[0, t]$  with  $s_0 = 0$  and  $s_n = t$ . Note that we have taken the right endpoint  $s_i$  of the subinterval  $[s_{i-1}, s_i]$

as the evaluation point for the integrand. Then we can find the limit

$$\begin{aligned} & \sum_{i=1}^n (B(1) - B(s_i))(B(s_i) - B(s_{i-1})) \\ &= B(1) \sum_{i=1}^n (B(s_i) - B(s_{i-1})) - \sum_{i=1}^n B(s_i)(B(s_i) - B(s_{i-1})) \\ &= B(1)B(t) - \left\{ \sum_{i=1}^n (B(s_i) - B(s_{i-1}))^2 + \sum_{i=1}^n B(s_{i-1})(B(s_i) - B(s_{i-1})) \right\} \\ &\rightarrow B(1)B(t) - \left\{ t + \frac{1}{2}(B(t)^2 - t) \right\}. \end{aligned}$$

Therefore, we have the stochastic integral

$$\int_0^t (B(1) - B(s)) dB(s) = B(1)B(t) - \frac{1}{2}(B(t)^2 + t), \quad 0 \leq t \leq 1. \tag{1.5}$$

It follows from Equations (1.4) and (1.5) that

$$\int_0^t B(1) dB(s) = B(1)B(t) - t, \quad 0 \leq t \leq 1, \tag{1.6}$$

which is clearly different from the right-hand side of Equation (1.3) given by Itô. In particular, our integral has expectation 0, while the one given by Itô has nonzero expectation. It seems to us that zero expectation is more in line with the first equality in Equation (1.1).

We will use the above idea to define a new stochastic integral. Then we will derive a special case of Itô's formula for this integral and solve a simple stochastic differential equation involving anticipating initial condition and integrands. The general case will be explored in later papers.

### 2. Stochastic Integral

From now on we fix a Brownian motion  $B(t)$  and a filtration  $\{\mathcal{F}_t\}$  satisfying the conditions:

- (a) For each  $t$ ,  $B(t)$  is  $\mathcal{F}_t$ -measurable;
- (b) For any  $s \leq t$ ,  $B(t) - B(s)$  and  $\mathcal{F}_s$  are independent.

Although both the integrands  $B(1) - B(t)$  and  $B(1)$  in Equations (1.5) and (1.6) are anticipating, there is an intrinsic difference between them, namely,  $B(1) - B(t)$  is independent of the  $\sigma$ -field  $\mathcal{F}_t$  while  $B(1)$  is not. This is the motivation for the following definition.

**Definition 2.1.** A stochastic process  $\varphi(t), a \leq t \leq b$ , is said to be *instantly independent* with respect to  $\{\mathcal{F}_t\}$  if  $\varphi(t)$  and  $\mathcal{F}_t$  are independent for each  $t$ .

Thus the stochastic process  $B(1) - B(t), 0 \leq t \leq 1$ , is instantly independent, while  $B(1), 0 \leq t \leq 1$ , is not. Moreover, note that if  $\varphi(t)$  is adapted and instantly independent, then  $\varphi(t)$  must be a deterministic function. In this sense, we can view instantly independent stochastic processes as a counterpart of the adapted stochastic processes for the Itô integral.

In order to explain our new idea in a simple way and also being guided by Theorem 4.7.1 of the book [6], we make the following definition.

**Definition 2.2.** Let  $f(t), a \leq t \leq b$ , be adapted and let  $\varphi(t), a \leq t \leq b$ , be instantly independent. Define the stochastic integral of  $f(t)\varphi(t)$  by

$$I(f\varphi) = \int_a^b f(t)\varphi(t) dB(t) = \lim_{\|\Delta\| \rightarrow 0} \sum_{i=1}^n f(t_{i-1})\varphi(t_i)(B(t_i) - B(t_{i-1})) \quad (2.1)$$

provided that the limit in probability exists.

Observe that in Equation (2.1), the evaluation points for  $f(t)$  and  $\varphi(t)$  on  $[t_{i-1}, t_i]$  are the left and right endpoints, respectively. When  $\varphi(t) = 1$ , this new stochastic integral reduces to the Itô integral. Moreover, for each  $i$ , we have

$$\begin{aligned} & E\{f(t_{i-1})\varphi(t_i)(B(t_i) - B(t_{i-1}))\} \\ &= E\{\mathcal{E}[f(t_{i-1})\varphi(t_i)(B(t_i) - B(t_{i-1})) | \mathcal{F}_{t_i}]\} \\ &= E\{f(t_{i-1})(B(t_i) - B(t_{i-1}))\mathcal{E}[\varphi(t_i) | \mathcal{F}_{t_i}]\}. \end{aligned}$$

Note that  $\mathcal{E}[\varphi(t_i) | \mathcal{F}_{t_i}] = E(\varphi(t_i))$  since  $\varphi(t)$  is instantly independent. Hence

$$\begin{aligned} & E\{f(t_{i-1})\varphi(t_i)(B(t_i) - B(t_{i-1}))\} \\ &= E(\varphi(t_i)) E\{f(t_{i-1})(B(t_i) - B(t_{i-1}))\} \\ &= E(\varphi(t_i)) E\{\mathcal{E}[f(t_{i-1})(B(t_i) - B(t_{i-1})) | \mathcal{F}_{t_{i-1}}]\} \\ &= E(\varphi(t_i)) E\{f(t_{i-1})\mathcal{E}[B(t_i) - B(t_{i-1}) | \mathcal{F}_{t_{i-1}}]\} \\ &= 0, \end{aligned}$$

since  $\mathcal{E}[B(t_i) - B(t_{i-1}) | \mathcal{F}_{t_{i-1}}] = 0$ . This shows that  $E(I(f\varphi)) = 0$ , a property that we want to keep for the new stochastic integral.

In general, suppose  $F(t)$  is a stochastic process given by

$$F(t) = \sum_{k=1}^N f_k(t)\varphi_k(t), \quad (2.2)$$

where  $f_k(t)$ 's are adapted and  $\varphi_k(t)$ 's are instantly independent. Then we define the stochastic integral of  $F(t)$  by

$$I(F) = \int_a^b F(t) dB(t) = \sum_{k=1}^N \int_a^b f_k(t)\varphi_k(t) dB(t).$$

It can be easily checked that  $I(F)$  is well-defined, i.e., it is independent of the representation of  $F$  in Equation (2.2).

**Example 2.3.** Let us evaluate the stochastic integral  $\int_0^t B(1)^2 dB(s)$  for  $t \in \mathbb{R}$ . First consider the case  $0 \leq t \leq 1$ . Express the integrand  $B(1)^2$  in the form of Equation (2.2) as

$$B(1)^2 = (B(1) - B(s))^2 + 2B(s)(B(1) - B(s)) + B(s)^2.$$

Then the integral of  $B(1)^2$  is the limit in probability of the following sum

$$\sum_{i=1}^n \{ (B(1) - B(s_i))^2 + 2B(s_{i-1})(B(1) - B(s_i)) + B(s_{i-1})^2 \} (B(s_i) - B(s_{i-1})),$$

which can be simplified to equal

$$B(1)^2 B(t) - 2B(1) \sum_{i=1}^n (B(s_i) - B(s_{i-1}))^2 + \sum_{i=1}^n (B(s_i) - B(s_{i-1}))^3.$$

Note that the first and second summations converge to  $t$  and 0, respectively, in  $L^2(\Omega)$ , hence in probability. Therefore,

$$\int_0^t B(1)^2 dB(s) = B(1)^2 B(t) - 2B(1)t, \quad 0 \leq t \leq 1.$$

When  $t > 1$ , we have

$$\begin{aligned} \int_0^t B(1)^2 dB(s) &= \int_0^1 B(1)^2 dB(s) + \int_1^t B(1)^2 dB(s) \\ &= B(1)^3 - 2B(1) + B(1)^2 (B(t) - B(1)) \\ &= B(1)^2 B(t) - 2B(1). \end{aligned}$$

In general, for a positive integer  $n$ , the following formula holds:

$$\int_0^t B(1)^n dB(s) = \begin{cases} B(1)^n B(t) - nB(1)^{n-1}t, & \text{if } 0 \leq t \leq 1, \\ B(1)^n B(t) - nB(1)^{n-1}, & \text{if } t > 1. \end{cases}$$

**Example 2.4.** We can use the same arguments as those in the previous example to derive the following integral

$$\int_0^t B(\frac{1}{2})B(1) dB(s) = \begin{cases} B(\frac{1}{2})B(1)B(t) - tB(\frac{1}{2}) - tB(1), & \text{if } 0 \leq t \leq \frac{1}{2}, \\ B(\frac{1}{2})B(1)B(t) - tB(\frac{1}{2}) - \frac{1}{2}B(1), & \text{if } \frac{1}{2} < t \leq 1, \\ B(\frac{1}{2})B(1)B(t) - B(\frac{1}{2}) - \frac{1}{2}B(1), & \text{if } t > 1. \end{cases}$$

**Example 2.5.** Consider the integral  $\int_0^t B(1)B(s) dB(s)$ . When  $0 \leq t \leq 1$ , write the integrand in the form of Equation (2.2) as

$$B(1)B(s) = B(s)(B(1) - B(s)) + B(s)^2.$$

Thus the integral is the limit in probability of the following sum

$$\sum_{i=1}^n \{ B(s_{i-1})(B(1) - B(s_i)) + B(s_{i-1})^2 \} (B(s_i) - B(s_{i-1})).$$

This sum can be easily seen to equal

$$B(1) \sum_{i=1}^n B(s_{i-1})(B(s_i) - B(s_{i-1})) - \sum_{i=1}^n B(s_{i-1})(B(s_i) - B(s_{i-1}))^2,$$

which converges in probability to  $B(1) \int_0^t B(s) dB(s) - \int_0^t B(s) ds$ . Therefore,

$$\int_0^t B(1)B(s) dB(s) = \frac{1}{2}B(1)(B(t)^2 - t) - \int_0^t B(s) ds, \quad 0 \leq t \leq 1. \quad (2.3)$$

When  $t > 1$ , write the integral  $\int_0^t$  as  $\int_0^1 + \int_1^t$  to obtain the equality

$$\int_0^t B(1)B(s) dB(s) = \frac{1}{2}B(1)(B(t)^2 - t) - \int_0^1 B(s) ds, \quad t > 1.$$

**Example 2.6.** To evaluate the stochastic integral  $\int_0^t e^{B(1)} dB(t)$  for  $0 \leq t \leq 1$ , write the integrand in the form of Equation (2.2) as

$$e^{B(1)} = e^{B(s)} e^{B(1)-B(s)}$$

so that the integral is the limit in probability of the following sum

$$\sum_{i=1}^n e^{B(s_{i-1})} e^{B(1)-B(s_i)} (B(s_i) - B(s_{i-1})),$$

which is equal to

$$\begin{aligned} & e^{B(1)} \sum_{i=1}^n e^{-(B(s_i)-B(s_{i-1}))} (B(s_i) - B(s_{i-1})) \\ &= e^{B(1)} \sum_{i=1}^n \left\{ 1 - (B(s_i) - B(s_{i-1})) + \frac{1}{2}(B(s_i) - B(s_{i-1}))^2 \right. \\ &\quad \left. + o((B(s_i) - B(s_{i-1}))^2) \right\} (B(s_i) - B(s_{i-1})) \\ &\rightarrow e^{B(1)}(B(t) - t) \quad \text{in probability.} \end{aligned}$$

Thus we have the stochastic integral

$$\int_0^t e^{B(1)} dB(t) = e^{B(1)}(B(t) - t), \quad 0 \leq t \leq 1.$$

Moreover, it is easy to see that

$$\int_0^t e^{B(1)} dB(t) = e^{B(1)}(B(t) - 1), \quad t > 1.$$

**Example 2.7.** Suppose  $\psi(x)$  is a continuous function. In order to evaluate the stochastic integral  $\int_0^t B(1)\psi(B(s)) dB(s)$  for  $0 \leq t \leq 1$ , we write the integrand in the form of Equation (2.2) as

$$B(1)\psi(B(s)) = (B(1) - B(s))\psi(B(s)) + B(s)\psi(B(s)).$$

For convenience, let  $\Delta B_i = B(s_i) - B(s_{i-1})$ . Then

$$\begin{aligned} & \sum_{i=1}^n \left\{ (B(1) - B(s_i))\psi(B(s_{i-1})) + B(s_{i-1})\psi(B(s_{i-1})) \right\} \Delta B_i \\ &= B(1) \sum_{i=1}^n \psi(B(s_{i-1})) \Delta B_i - \sum_{i=1}^n \psi(B(s_{i-1})) (\Delta B_i)^2 \\ &\rightarrow B(1) \int_0^t \psi(B(s)) dB(s) - \int_0^t \psi(B(s)) ds, \end{aligned}$$

which yields the following formula for  $0 \leq t \leq 1$ ,

$$\int_0^t B(1)\psi(B(s)) dB(s) = B(1) \int_0^t \psi(B(s)) dB(s) - \int_0^t \psi(B(s)) ds. \tag{2.4}$$

Moreover, for  $t > 1$ , we can easily show that

$$\int_0^t B(1)\psi(B(s)) dB(s) = B(1) \int_0^t \psi(B(s)) dB(s) - \int_0^1 \psi(B(s)) ds.$$

### 3. Itô's Formula

We now derive a special case of Itô's formula for the new stochastic integral defined in Section 2.

**Lemma 3.1.** *Suppose  $f(x)$  is a continuous function and  $\varphi(x)$  is a  $C^1$ -function. Let  $\theta(x, y) = f(x)\varphi(y - x)$ . Then for each  $t \in [a, T]$ ,*

$$\begin{aligned} & \sum_{i=1}^n \theta(B(s_{i-1}), B(T))(B(s_i) - B(s_{i-1})) \\ & \longrightarrow \int_a^t \theta(B(s), B(T)) dB(s) + \int_a^t \frac{\partial \theta}{\partial y}(B(s), B(T)) ds \end{aligned} \tag{3.1}$$

in probability as  $\|\Delta\| \rightarrow 0$ . Here  $\Delta = \{s_0, s_1, \dots, s_n\}$  is a partition of  $[a, t]$  with  $s_0 = a$  and  $s_n = t$ .

*Proof.* For simplicity, let  $\Delta B_i = B(s_i) - B(s_{i-1})$ . This lemma can be informally proved as follows:

$$\begin{aligned} & \sum_{i=1}^n \theta(B(s_{i-1}), B(T)) \Delta B_i \\ & = \sum_{i=1}^n f(B(s_{i-1})) \varphi(B(T) - B(s_{i-1})) \Delta B_i \\ & \approx \sum_{i=1}^n f(B(s_{i-1})) \left\{ \varphi(B(T) - B(s_i)) + \varphi'(B(T) - B(s_i)) \Delta B_i \right\} \Delta B_i \\ & \rightarrow \int_a^t f(B(s)) \varphi(B(T) - B(s)) dB(s) + \int_a^t f(B(s)) \varphi'(B(T) - B(s)) ds, \end{aligned}$$

which yields Equation (3.1) since  $\theta(x, y) = f(x)\varphi(y - x)$ . □

**Theorem 3.2.** *Let  $f(x)$  and  $\varphi(x)$  be  $C^2$ -functions and  $\theta(x, y) = f(x)\varphi(y - x)$ . Then the following equality holds for  $a \leq t \leq T$ ,*

$$\begin{aligned} \theta(B(t), B(T)) & = \theta(B(a), B(T)) + \int_a^t \frac{\partial \theta}{\partial x}(B(s), B(T)) dB(s) \\ & \quad + \int_a^t \left\{ \frac{1}{2} \frac{\partial^2 \theta}{\partial x^2}(B(s), B(T)) + \frac{\partial^2 \theta}{\partial x \partial y}(B(s), B(T)) \right\} ds. \end{aligned}$$

*Proof.* Let  $\Delta = \{s_0, s_1, \dots, s_n\}$  be a partition of  $[a, t]$  with  $s_0 = a$  and  $s_n = t$  and let  $\Delta B_i = B(s_i) - B(s_{i-1})$ . Then

$$\begin{aligned} \theta(B(t), B(T)) &= \sum_{i=1}^n \{\theta(B(s_i), B(T)) - \theta(B(s_{i-1}), B(T))\} \\ &\approx \sum_{i=1}^n \frac{\partial \theta}{\partial x}(B(s_{i-1}), B(T)) \Delta B_i + \sum_{i=1}^n \frac{1}{2} \frac{\partial^2 \theta}{\partial x^2}(B(s_{i-1}), B(T)) (\Delta B_i)^2. \end{aligned}$$

Apply Lemma 3.1 to the function  $\frac{\partial \theta}{\partial x}$  to show that the first summation converges in probability to

$$\int_a^t \frac{\partial \theta}{\partial x}(B(s), B(T)) dB(s) + \int_a^t \frac{\partial^2 \theta}{\partial x \partial y}(B(s), B(T)) ds.$$

On the other hand, the second summation converges in probability to

$$\int_a^t \frac{1}{2} \frac{\partial^2 \theta}{\partial x^2}(B(s), B(T)) ds.$$

Put these two limits together to get the equality in the theorem.  $\square$

**Corollary 3.3.** *Let  $f(x)$  and  $\varphi(x)$  be  $C^2$ -functions and  $\theta(x, y) = f(x)\varphi(y - x)$ . Then the following equality holds for  $t > T$ ,*

$$\begin{aligned} \theta(B(t), B(T)) &= \theta(B(a), B(T)) + \int_a^t \frac{\partial \theta}{\partial x}(B(s), B(T)) dB(s) \\ &\quad + \frac{1}{2} \int_a^t \frac{\partial^2 \theta}{\partial x^2}(B(s), B(T)) ds + \int_a^T \frac{\partial^2 \theta}{\partial x \partial y}(B(s), B(T)) ds. \end{aligned}$$

*Proof.* Write  $\theta(B(t), B(T))$  as

$$\theta(B(t), B(T)) = \theta(B(T), B(T)) + \{\theta(B(t), B(T)) - \theta(B(T), B(T))\}. \quad (3.2)$$

On the interval  $[T, t]$ , since  $B(T)$  is  $\mathcal{F}_T$ -measurable, we can apply Itô's formula for an adapted integrand to get

$$\begin{aligned} &\theta(B(t), B(T)) - \theta(B(T), B(T)) \\ &= \int_T^t \frac{\partial \theta}{\partial x}(B(s), B(T)) dB(s) + \frac{1}{2} \int_T^t \frac{\partial^2 \theta}{\partial x^2}(B(s), B(T)) ds. \end{aligned} \quad (3.3)$$

Then put Equation (3.3) and the value of  $\theta(B(T), B(T))$  from Theorem 3.2 into Equation (3.2) to get the formula in this corollary.  $\square$

Upon comparing Theorem 3.2 and Corollary 3.3 with Theorem 13.19 in [5] we see that the stochastic integral  $\int_a^b F(t) dB(t)$  defined in Section 2 equals the Hitsuda-Skorokhod integral  $\int_a^b \partial_t^* F(t) dt$  (see page 259 in [5]). However, the white noise integral  $\int_a^b \partial_t^* F(t) dt$  is in general a generalized function and obviously lacks probabilistic interpretation. Thus our stochastic integral can be viewed as a bridge connecting the Itô theory of stochastic integration and white noise theory.



The above Itô's formula can be generalized to the case involving the  $t$ -variable and more specified values of  $B(t)$ , e.g.,  $\theta(t, B(t), B(T_1), B(T_2))$  with  $T_1 < T_2$ . In this case, the stochastic differential  $d\theta(t, B(t), B(T_1), B(T_2))$  is given by

$$d\theta(t, B(t), B(T_1), B(T_2)) = \begin{cases} \frac{\partial\theta}{\partial x} dB(t) + \left( \frac{\partial\theta}{\partial t} + \frac{1}{2} \frac{\partial^2\theta}{\partial x^2} + \frac{\partial^2\theta}{\partial x\partial y} + \frac{\partial^2\theta}{\partial x\partial z} \right) dt, & \text{if } a \leq t \leq T_1, \\ \frac{\partial\theta}{\partial x} dB(t) + \left( \frac{\partial\theta}{\partial t} + \frac{1}{2} \frac{\partial^2\theta}{\partial x^2} + \frac{\partial^2\theta}{\partial x\partial z} \right) dt, & \text{if } T_1 < t \leq T_2, \\ \frac{\partial\theta}{\partial x} dB(t) + \left( \frac{\partial\theta}{\partial t} + \frac{1}{2} \frac{\partial^2\theta}{\partial x^2} \right) dt, & \text{if } t > T_2, \end{cases}$$

which can be used to derive the stochastic integral in Example 2.4.

#### 4. Stochastic Differential Equations

In this section we present some linear stochastic differential equations to show the difference between the adapted and non-adapted cases.

**Example 4.1.** Consider the stochastic differential equation

$$dX_t = X_t dB(t) + \frac{1}{B(1)} X_t dt, \quad X_0 = B(1), \quad 0 \leq t \leq 1,$$

which means the following stochastic integral equation

$$X_t = B(1) + \int_0^t X_s dB(s) + \int_0^t \frac{1}{B(1)} X_s ds. \tag{4.1}$$

Since  $B(1)$  appears as the initial condition, this equation is not of an adapted type. We shall try the iteration method to solve this equation. Let

$$X_t^{(1)} = B(1).$$

Then use Equation (1.6) to find that

$$\begin{aligned} X_t^{(2)} &= B(1) + \int_0^t X_s^{(1)} dB(s) + \int_0^t \frac{1}{B(1)} X_s^{(1)} ds \\ &= B(1)(1 + B(t)). \end{aligned}$$

Similarly, use Equation (2.3) to derive

$$\begin{aligned} X_t^{(3)} &= B(1) + \int_0^t X_s^{(2)} dB(s) + \int_0^t \frac{1}{B(1)} X_s^{(2)} ds \\ &= B(1) \left( 1 + B(t) + \frac{1}{2} B(t)^2 - \frac{1}{2} t \right). \end{aligned}$$

We can use Equation (2.4) with  $\psi(x) = x^2$  to go one more step to show that

$$X_t^{(4)} = B(1) \left( 1 + B(t) + \frac{1}{2} B(t)^2 - \frac{1}{2} t + \frac{1}{3!} B(t)^3 - \frac{1}{2} t B(t) \right).$$

In general, we can easily see that

$$X_t^{(m)} = B(1) \sum_{n=0}^{m-1} \frac{1}{n!} H_n(B(t); t), \quad (4.2)$$

where  $H_n(x; \rho)$  is the Hermite polynomial of degree  $n$  with parameter  $\rho$ , i.e.,

$$H_n(x; \rho) = \sum_{k=0}^{\lfloor n/2 \rfloor} \binom{n}{2k} (2k-1)!! (-\rho)^k x^{n-2k},$$

(see, e.g., page 156 in [6].) By letting  $m \rightarrow \infty$  in Equation (4.2), we get the solution  $X_t$  of Equation (4.1)

$$X_t = B(1) \sum_{n=0}^{\infty} \frac{1}{n!} H_n(B(t); t). \quad (4.3)$$

But we have the well-known generating function

$$e^{tx - \frac{1}{2}\rho t^2} = \sum_{n=0}^{\infty} \frac{t^n}{n!} H_n(x; \rho),$$

(see, e.g., page 159 in [6].) Put  $t = 1$ ,  $x = B(t)$ , and  $\rho = t$  to get

$$e^{B(t) - \frac{1}{2}t} = \sum_{n=0}^{\infty} \frac{1}{n!} H_n(B(t); t). \quad (4.4)$$

From Equations (4.3) and (4.4), we conclude that  $X_t$  is given by

$$X_t = B(1) e^{B(t) - \frac{1}{2}t}. \quad (4.5)$$

In fact, we can use Itô's formula in Theorem 3.2 to check that this stochastic process  $X_t$  is indeed a solution of Equation (4.1).

**Example 4.2.** Replace  $B(1)$  in Equation (4.1) by  $x \in \mathbb{R}$ . Then the resulting stochastic integral equation

$$Y_t = x + \int_0^t Y_s dB(s) + \int_0^t \frac{1}{x} Y_s ds$$

is an adapted equation and has the solution given by

$$Y_t = x e^{B(t) - \frac{1}{2}t + \frac{1}{x}t},$$

(see, e.g., page 233 in [6].) This stochastic process  $Y_t$  and the stochastic process  $X_t$  in Example 4.1 show the role played by  $B(1)$ .

**Example 4.3.** If we replace  $B(1)$  in Equation (4.5) by  $x \in \mathbb{R}$ , then the resulting stochastic process

$$Z_t = x e^{B(t) - \frac{1}{2}t}$$

is the solution of the following adapted stochastic integral equation

$$Z_t = x + \int_0^t Z_s dB(s),$$

which is very different from Equation (4.1).

### References

1. Buckdahn, R.: Anticipative Girsanov transformations, *Probab. Th. Rel. Fields* **89** (1991) 211–238.
2. Hitsuda, M.: Formula for Brownian partial derivatives, *Second Japan-USSR Symposium Probab. Th.* **2** (1972) 111–114.
3. Hitsuda, M.: Formula for Brownian partial derivatives, *Publ. Faculty of Integrated Arts and Sciences, Hiroshima University*, Series III, Vol. 4 (1978) 1–15.
4. Itô, K.: Extension of stochastic integrals, *Proc. Intern. Symp. Stochastic on Differential Equations*, K. Itô (ed.) (1978) 95–109, Kinokuniya.
5. Kuo, H.-H.: *White Noise Distribution Theory*. CRC Press, Boca Raton, 1996
6. Kuo, H.-H.: *Introduction to Stochastic Integration*. Universitext (UTX), Springer, 2006.
7. León J. A. and Protter, P.: Some formulas for anticipative Girsanov transformations, in: *Chaos Expansions, Multiple Wiener-Itô integrals and Their Applications*, C. Houdré and V. Pérez-Abreu (eds.), CRC Press, 1994
8. Nualart, D. and Pardoux, E.: Stochastic calculus with anticipating integrands, *Probab. Th. Rel. Fields* **78** (1988) 535–581.
9. Pardoux, E. and Protter, P.: A two-sided stochastic integral and its calculus, *Probab. Th. Rel. Fields* **76** (1987) 15–49.
10. Skorokhod, A. V.: On a generalization of a stochastic integral, *Theory Probab. Appl.* **20** (1975) 219–233.

WIDED AYED: DEPT. OF MATHEMATICS, INSTITUT PRÉPARATOIRE AUX ETUDES D'INGÉNIEURS,  
EL MEREZKA, NABEUL, 8058, TUNISIA  
*E-mail address:* `wided.ayed@ipein.rnu.tn`

HUI-HSIUNG KUO: DEPT. OF MATHEMATICS, LOUISIANA STATE UNIVERSITY, BATON ROUGE,  
LA 70803, USA.  
*E-mail address:* `kuo@math.lsu.edu`